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1. Answer the following as directed (any ten) :
1x10=10

TS FRIGEIR Fort S Ted it (R et wes)

(a@) Who is known as the father of political
science?

JEAite @ & &1 I @[ 272

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

"I T8 2 o 7T; R s 2 Rt
EEQRNUERE &I G R W S AL ES LY
=il |

( Choose the correct option )

( ®m SBlw! R Seredt )
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(c) The behavioural approach to the study
of political science was originated in
UK/USA/France/India.

e RWHT G G@G SEE el
REGS /RS /TS /ST |
( Choose the correct option )

( Wz Sadqo! Ay Sferear )

(d) Legitimate power is called as
( Fill in the blank )
@Y HIOP I crat =)
(<R o1 o/ 4 )

(e) Feminism is a protest against what?

TR 3 [Efss @2

(f)/ Name one supporter of post-modernism.

CGI-HIYFFORMI G& AT AW forit |

(g) In ancient Greece, City-State was called

( Fill in the blank )

Ab oS MR- IR Cf=e |
(A& 32 o7 T4 )

(h) Name one liberal theorist.
9 SARAA ofewq T for
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(i) What is Liberalism opposed to?
S foza feifast wta?
(i) Totalitarianism
REOIEIRIT!
(ii)) Authoritarianism
FEIA
(ii)) Socialism
RIETI T

(iv) All of the above

SAG] APl
( Choose the correct option )

( wam Saal qifE Sfereat )

(i) Marxism regards State as a

i Qg 6 3 eI ?

(i) Natural institution
Aipfos A2

(i) Social institution
AIfES 572

(iii) Class institution
I A

(iv) Welfare institution
FepplIa ALE

( Choose the correct option )

( = Swedw! difg Sfereat )
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(k) Which one of the following is not a
normative approach?

SEq (I S/ Aq=oqisTe qiac w2y ?

(i) Philosophical approach
L CEEIEE)

(ii) Legal approach
LIECIIIEE

(iii) Systems approach
TafoMS 4l

(iv) Institutional approach

TIFIMS 19l
( Choose the correct option )

( ™= Swleo! iR Sfereat )

() Name one post-behaviouralist.

G&+ OGI-HBIRMIT AN ferdit |

(m) Mary Wollstonecraft is a liberal/radical
feminist.

G SABEGF @R SRRAM/5ITAR
FAA e |

( Choose the correct option )

( ®= SG! iR Sfereat )
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(n) “Democracy is a government in which
everyone has a share.” Who said this?

“sicfor (202 GG Wbl IRl Al TS AP
HEAWES Sz FAEE @I (e ?

(i) Abraham Lincoln
SR ferRee

(ii) Dicey

e

(iii) Seeley
et

(iv) Bryce

aizp

( Choose the correct option )

( wm el iR Sferedt )

(o) Who is the author of the book,
The State and Revolution?

The State and Revolution N9 &ZI9
/G FIH?

(p) Name one scholar of participatory
democracy.

TRHAZTAT oITOF T TGP T ferstt |
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(@9 Who wrote the book, Leviathan?
Leviathan J¥d 9237a @S @472

() Mention any one feature of behaviour-
alism.

HEIRME 7 @I 9ot @Ry Sy @4l |

2. Answer very briefly/Write short notes on any
five of the following : 2x5=10

efRre Sw forl/wers frapTaza il (it #Aiobia =ifs
Bﬂmm

(a) Mention two scopes of political science.

IS RwHI 7ol “fFR SrEd 41 |

(b) What is the first wave of feminism?

TR A4 @G 52

(c) Name two proponents of libertarianism.

eI qoe TN i fora |

(d) Bring out the sex-gender distinctions.

Aipfes fomt w1 e fosfe T ndeprz
ferat |

(e) Historical materialism

afszfie ITIM
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() Did post-behaviouralism reject behav-
iouralism?

TE-HHERITT  SHIRME A9 PR
G IE

(g9 What was the central thrust of
enlightenment project?

G Sieaee 3o gFelf R & =i

(h) Mention two major devices of direct
democracy.

oI SITegd Yol Ie1 17 162

(i) What is First Past the Post method?
A AR @R At 572

() Michel Foucault
fiieE @Fs

3. Write short notes on any four of the following :
5x4=20

were frapmed i @I oif¥bR es S 53 Gt forat

(a) Class struggle
IR S
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(b) Elements of post-modernism

TEI-FYAFORIMA SAMTTIR

(c) Challenges to the idea of democracy
Sega K4 SIS TR ASIRITINE

(d) Behavioural revolution

IR [ed

(e) Participation and representation in
democracy

ST Sz HF aAfoHig

() Features of historical approach

afozife qiReE @RFErR

(g9 Marx on democracy

SfTogd SRS T 4Iaen

(h) Traditional view on politics

AEAINT SRS AT eS|
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4. Answer any four of the following questions :
10x4=40

weTe ol eaRd & @i vifeR 86l ol -

(a) Define political theory. Discuss its main
features and dimensions. 3+7=10

GRS ©ed AL T | 2W 24 3Ry e
frTg2a 8o STl 33T |

(b) What is liberalism? Make a comparative
analysis of classical and modern
liberalism. 3+7=10

TriRm B2 RIS WiE i Sridiid
9Bt e YOl wife 1|

(c) Attempt a critical appraisal of libertar-
ianism and explain its key ideas. 10

1 S TN 10 B 1 1R S )
SRGR SIF 2R A4 RIPR o |

(d) Describe Marxist view of political
theory. How does it reject the liberal
view? 6+4=10

JenAfed ©Ed WEE geew  IqM 9|
3 @I SHIAMS A FCI?
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(e)

(9)

(h)

A23/449

( 10 )

What is an approach? What are the
traditional and modern approaches to
political theory? 2+8=10

g4t A gicdl 2 IEeafes ogq Aa=aqore

oiF Sy qieen ¢ 652

Critically examine the main features of
feminism. What are the differences
between liberal feminism and radical
feminism? 5+5=10

11 A ) A 4 54 0 g D (| L2 R R A
G BT W B ) L B I T e ]
TR Trere Al 5 62

What is post-modernism? What are its
salient features? 4+6=10

Ted-wiferm 57 R oyl REPTER
& fo?

Discuss the concept of democracy. Do
you think India is a successful model
of democracy? Explain. 5+5=10

SITSFA RNTE! HEHA 41| SO 7=
STSFd [Coe RHIC SR ? A1t 331 |
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() What is the deliberative theory of

democracy? Discuss its key features.
4+6=10

AT oITegd ©F 62 27 3o @REPrHR
SIS 4 |

() Examine the principles of procedural
democracy and discuss the case of
procedural democracy vs. substantive
democracy. 5+5=10

dfermisre  cmioste siTege AR AW
4 i dfEFHae ey Y @ ATege
SIS AT T4 |

* K &

A23—11*/449 3 (Sem-1/CBCS) POL-HC 1



